Calculus II Chapters 12 Practice Problem Solutions

ANSWERS: 1.a) P(0,1,2), R(4,2,3): b)5, 0=61.2°: ¢) —<12-15=< 56 56 ~5V6 _.
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i; e) i<4,1,1>:<£,£,£>; f) <_—1 ﬂ1—_23>; 9) <_—1,g,_—23>-<4,1,1>:0;
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h) <3,-5,-7>, —; 1) x=0+4t,y=1+1t,z=2+1t; j) 3x-5y-7z=-19; k) —; ) —.
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2. a) vector; b) vector; c) no sense; d) no sense; e) vector; f) scalar; g) no sense; h) no sense.
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3. é-(ﬁ— proj,b

(we want to show that the dot product is zero)
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A (definition of proj,b )
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)@-a)] {a-s(b)=s(a-b) property of dot product}
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] (dot product distributes)
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b-a
a
=a-b-b-a (a-a=[a’

0  (dot product commutes)
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